Q-1) 20.75 is equal to how many paise?

Q-2) A notebook costs Z35. If Manu buys 12 notebooks, how much does
he spend?

Q-3) How many 50 paise coins make ¥207?
Q-4) Find the difference between ¥159.80 and ¥49.25.
Q-5) If a bottle costs ¥19.85, what will 5 bottles cost?

Q-6) Ramesh has ¥58. He spends ¥27.50 on stationery. How much
money is left?

Q-7) Convert ¥78.20 into paise.
Q-8) Add ¥42.60 + Z35.90:

a. ¥78.50

b. ¥79.50

c. ¥72.60

d. ¥78.20

Q-9) ¥0.90 is equal to how many paise?

Q-10) Rekha buys a book for ¥55.25 and gives the shopkeeper Z60.
How much change does she get back?
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Answers

Ans-1) %0.75 =75 paise

Ans-2) 35 x 12 = 420

Ans-3) ¥20 = 40 50 paise coins

Ans-4) Difference = ¥159.80 - ¥49.25 = ¥110.55
Ans-5) ¥19.85 x 5 = ¥99.25

Ans-6) ¥58 - ¥27.50 = ¥30.50

Ans-7) ¥78.20 = 7820 paise

Ans-8) ¥42.60 + ¥35.90 = b. ¥79.50

Ans-9) %0.90 = 90 paise

Ans-10) Change = Z60 - ¥55.25 = Z4.75
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